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Input A=436.0 cm, R=6-26

X271 ndf 33.76/8
L Prob 4.486e-05
350 C Constant 5.495 + 0.001
3003_ Slope  -0.001973 + 0.000008
250F
200F
150F
100F Fit A=-506.8 + 1.9cm
50F
O:...I....I....I....
-100 0 100
position (cm)
X2/ ndf 1556/ 8
24;_ Prob 0
22 = \ Constant 2.735+ 0.001
20:_ Slope -0.002027 + 0.000005
18F
16F
14F
12F
10F
8
6F Fit A=-493.4 + 1.3cm
4F
2F
0:| PN TR N A TR WA TN TR NN TR TN SO TN N SO T

-100 0 100

position (cm)

w
a1
o

300

250

DOWN integral

200

150

100

50

24
22
20

DOWN peak

O N DO @

Fit A=533.1 + 2.1cm

X2/ ndf 73.84/8
Prob 8.436e-13
Constant 5.495+ 0.001
Slope 0.001876 + 0.000007
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Fit A=608.4 + 2.6cm

X2/ ndf 8842/8
Prob 0
Constant 2.697 + 0.001
Slope 0.001644 + 0.000007
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Input A=436.0 cm, R=0.20
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